Umwandeln von Grossen - Flachen und Volumen
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82.16883 m  |=|.A0bo 924 6%,42 mm
62890 cm |=[: A0v — w4 Agoo sk 2,618 30 km
5594.74 mm |=| . AvQ 56,9434 dm
13.1 mm |=| . (ovoO Q.03 A m
8174 cm |=|.lov, ~lo00O 0,081 & km
48 mm |=|-[000p . oyd m
244.2 m =[ - 00 LYL0 cm
57.23288 km |=|-Nlooa , « 40 571474% dm
21603 cm | =|: /00 216, 02 m
954 m =| « (900 0.95 & km
2027.48 mm |=| 100 19,2344 dm
58408.2 dm |=|- 40’ A 0¢0 5 8400 | km
911.3 km [=|-A000, - A90 §/1 o090 cm
443.9 mm |[=|"lug I L 434 dm
484.4 dm |[=|'.|0 ’«f“b yn m
891.6 dm |=['.]o, (000 0.0294( km
27.86363 m*> | =|‘BStllur, () = LI4LA6R dm’
63.638 dm” |=| LS Jllen () = 6362, 8 cm’
62075.1 cm® | =| 4 Slyllu (¢) 26,2026/ m’
70140 mm? |=| 2 Sllhw (3) = JoA. U cm?
85.65034 km> |=| ([ Slllin ) > 95 (5o 4o m’
76.83ha  [=|) (Wla () = F683 a
5112 |={b Shl () < 51600000 cm’
40873.6 dm® |=|1 Cldlu () = 403326 m”
479.9 cm® |=| b Sl L1) 2 0,0004})9, 9 a
503.1 dm” [=|4 Sl () = Covaou mm
250 km® |=| 2 Sl L) = Aioo0o0 ha |
1938 ha  [=| 0 Sl (4) = 1.9%9 km?
299.8a  |=| 4 S L) = 2958000 dm’
8335dl  |=| .l 91,256 |
957 | =| - 1000 4523 000 ml
707.9 cl =| 40 F029 ml
71ml |=|.lo00O 0.03xA I
30.525 | =| - a0 20828 di
797.8 hl =[«A00; -AQv 79300 dl
844852 | = 190 Gukd. 52 hl
87.34dl |=| 10 S 4 cl
2079 hl  |=| . 1po, <10 9,203 9 dl
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928.6 |

342860
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=| .40 cl
4165 hl  [=[-200, -Av 0 H1bYoo 0 cl
423.6 kg " (30 © 0.423 6 t
95.25 t - 000, - A0 00 45925000 0 g
143782 g » A00 0 AR, 382 kg
4544 kg LA00Q [{,,5'[{4_? t
523.4 t <4900 6L koo kg
301 g ~N000 0.20A kg
2456 dm® | [3SWhe () 22450 m3
273.62 m’ (Sldb. (4) = L3Y¥620'00 0 mm
23763.49 dm® | [V §ldbe. () = 22% (1480 cm’
5141 m’ Vil () = 541000 dm?
gsa mm® | %Sk U4) = 0.85U cm’
97221 m* | [3 5k 1) = 92924'000 B dm’
32km’ | [4 flls ) = V29000000 0 m’
80.63 m® 3 Sk () = §O%20 dm’
14526 mm® | | Skl L) 145'2{ cm’
733 dm® | [ Sl L) 0.3 m’
113622 cm® | [Vl &) = 242622 dm’
336015 dm® | [V {llln (-] = DL (045 m?
988.8 dm® | [1 Skl (2] = 0.5%%% m’
38543 cm® | [{ Swl L) = 0.03$5472 m’
770055.2 cm® | [6 fhlo. L) = 0 Frovys m’
165.7 dm> | [ Ll 12) = 04T} m’
13936 cm® | 0 (b 1 = AA0%00 mm®
989619 mm® | |b Sl (] = 0.9%%19 dm’ |
482.2 dm® | [b Skl () = L4911 90000 mm
7235407 m* | |6 (b L) = 32%54'%30 cm’
39 cm® Vihe W = 0.03dnt = 0.029 |
3092849 m> | (Ll L) - 3698 .40d L =5 30 A2% 44 cl
886.1 hl T () = §3C40 € [dn =2X %90/ m’
20061.3 m* | [ Ul L) 200640 6 |
351 h Ll L) =900 d [ 2000 a5h00'00s' 000 mm?
27.27705 dl Ak ) =2 . 3oyl | de 22 0,000 105  m
4.25 d Al L) = mamt o 22N yiTov mm’
72 dI AL C) = Faelde® =9 v o) m>




